
For help with installation, call 360-260-CORK (2675)

WARNING: Make sure vehicle is completely cooled down prior to starting 
installation.  Exhaust systems and especially catalytic converters can get 
hot enough to seriously injure you.  If you are going to work on your car 

within an hour or two of having driven it, use of a fan to cool off the exhaust 
system and the catalyst. 

WARNING:  Thoroughly read the precautions and instructions that come 
with your Floor Jack and Jackstands as well as your vehicle’s owners 
manual for appropriate jacking methods and jacking / support points.  

Always double up support on a vehicle - Jack Stands and Floor Jack /etc.

NOTE:  When under the car, you should be wearing mechanics gloves or 
other form of hand protection as well as ANSI Approved Safety Glasses.

NOTE: These instructions were written for reference only and the use of a 
factory service manual is recommended. Please read these instructions 

thoroughly prior to starting installation.   

Power Series 80mm Exhaust
Mazdaspeed Protege

Model   Year   Trim

Mazdaspeed 2002-2003.5 All
Protege 
 

Part Number:
99p-6-100

Tooling List:
3/8 Drive Ratchet
 BEST: DC Impact Gun
6” 3/8 Drive Extension
17mm Boxed End Wrench
17mm long socket
 BEST:  Wobbly/Univ.
14mm Boxed End Wrench
14mm Long Socket
 BEST:  Wobbly/Univ.

0
0
1
-
6
-
p
9
9

22mm O2 Sensor Socket
Silicone Spray/WD-40
Penetrating Spray
Jack Stand
Floor Jack
Mechanics Gloves
Safety Glasses

Parts List -10 Config.:
Forward Exhaust Section
Middle Exhaust Section
Tailpipe Section
4x M10x1.25x35mm Bolts
2x M10x1.25x80mm Bolts
6x M10 Flat Washers
2x M10 31mm Flat Washers
4x M10 Lock Washers
8x M10x1.25 Nuts

 

www.CorkSport.com

Time Estimate:
60-90 min.

 !

Wrench Rating:
2/5

 ?

 !

 ?

2x 80mm Exhaust Gaskets
Optional:
Motor Mounts
Silencer
Catalytic Converter



For help with installation, call 360-260-CORK (2675)

Installation Instructions:
Corksport 80mm Power Series Exhaust

for Mazdaspeed Protege
C
O
R
K
S
P
O
R
T

Overview/Checklist:
This is an overview of each of the steps of the build.  You can use this as a 
reference and a checklist as you button up the work on the car.  

1:   Safely get car in the air on floor jack and jackstands or use a lift.     

2a: Apply penetrating spray and Remove fasteners connecting J section of the 
downpipe to forward exhaust pipe.

2b: Apply penetrating spray and Remove factory O2 Sensor from fwd. exhaust.

2c: Apply penetrating spray and Remove fasteners between forward and middle 
sections of the exhaust. 

2d: Spray exhaust hangers on forward section of exhaust with silicone spray.  
Remove forward section of exhaust from the vehicle. 

2e: Apply penetrating spray and remove fasteners holding the tailpipe section 
to the middle section of the exhaust and remove the middle section from the 
vehicle.   
 
2f: Spray muffler hangers with silicone spray, disconnect and remove muffler.

3a: Install CorkSport exhaust front section into front exhaust hangers.

3b: Install the two supplied M10 80mm long bolts with standard flat washers 
through downpipe and CS Exhaust Flange. Install the factory springs, large 
flat washers and two M10 nuts. Tighten nuts until there is about 1mm gap 
between spring coils.  Install a second set of jam nuts onto bolts and tighten.

3c:  Install O2 Sensor with Anti Seize.  Tighten to ~10 ft lb of torque.

3d: Install Tailpipe section onto hangers and allow to hang in place.

3e:  Install middle section of exhaust system into vehicle along with supplied 
80mm gaskets and hardaware.  

3f: Adjust exhaust hangers for minimum 1/2 tailpipe inch clearance to rear 
bumper.  Use zip-ties on hanger posts to fix bushing location from side to side.  
Improper installation could damage bumper.
 
4: Check to make sure gaskets are seated, bolts are tight.  Take off jack 
stands and test run checking for leaks.  

How the Instructions Work
To best cover all of our customers experience levels and familiarity with 
the systems on their Mazda, we have broken our instructions down into 
numbered steps, each of which has the core information in the header with 
additional detail as needed depending on your experience. If you have a high 
level of experience, you can just use the checklist below and then skip to 
the step number where you need help or assistance.  ALways read all safety 
warnings on cover sheet of instructions!!  Video assistance may also be 
available for certain steps and is indicated by the HD icon:    Areas where 
there is a safety concern are indicated by the warning icon:     Cautionary 
areas (where parts are fragile, etc) are indicated by the caution icon:       
Key tips are indicated with the light bulb icon:   

 !

 ?

CS
 !

 !



For help with installation, call 360-260-CORK (2675)

Installation Instructions:
Corksport 80mm Power Series Exhaust

Mazdaspeed Protege
C
O
R
K
S
P
O
R
T

1:  Support Car on Floor Jack/Jackstands or Lift. 

Use a floor jack and jackstands to gain access to the underside of the vehicle.     
   Always refer to the Floor Jack and Jackstand manufacturers instructions as 
well as the factory owners manual for your vehicle to determine jacking points 
and support points.  Alternately, use an automotive lift to gain access to the 
underside of the vehicle.  Redundant support mechanisms are recommended.

2:  Factory Exhaust Removal

A) Apply penetrating spray (PB Blaster, Aerokroil, WD-40) and Remove the two 
14mm head nuts from the J section of the downpipe to forward exhaust section 
connection shown in Figure 2a and retain the springs for later use.  If they are 

difficult to remove, respray after they’ve backed off a 
bit, retighten and loosen to work the penetrating spray 
into the threads.  

B) Apply penetrating spray and use an O2 Sensor 
Socket and Remove factory O2 Sensor from forward 
section of exhaust.  Ensure that sensor harness does 
not bind up when removing.  There is enough length in 
the wiring harness to prevent this, you just need to 

make sure the twisting of the wire occurs over the 
entire length of the harness.  Let the sensor hang on 
the harness until it is reinstalled.

C) Apply penetrating spray and Remove the two 14mm 
nuts connecting the forward and middle sections of 
the exhaust shown in Figure 2c. 

D)  Spray exhaust hangers on forward pipe, shown in 
Figure 2d, with silicone spray or WD-40 and remove 

them from the exhaust system.  Remove forward section 
of exhaust from the vehicle.  Exhaust Hanger bushing 
removal video available here: http://bit.ly/8Eb6NZ

E) Apply penetrating spray and Remove the two 14mm 
nuts and bolts shown in 
Figure 2e holding the 
tailpipe section to the middle 

section of the exhaust and remove the middle section 
from the vehicle.   

F)  Spray tailpipe and muffler hangers with silicone 
spray or WD-40 and remove hangers from exhaust 
system.  

3:  CorkSport Exhaust Installation     

A) Install CorkSport exhaust front section into front exhaust hangers.

B) Install the two supplied M10 x 1.25 80mm long bolts with two of the supplied 
flat washers through down pipe then flange on CorkSport exhaust. Install the 
factory springs removed earlier then the two 31mm O.D flat washers and two of 
the M10 x 1.25 nuts. Tighten nuts until there is about 1mm gap between spring 
coils. (Step B Continued on Page 2)  

Figure 2a

Figure 2d

Figure 2c

Figure 2e

CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT

CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT

CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT

CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT

CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT

CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT

CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT

CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT

CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT

CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT

CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT

CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT

CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT

CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT

CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT

CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT

CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT

CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT

CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT

CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT

CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT

CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT



For help with installation, call 360-260-CORK (2675)

Installation Instructions:
Corksport 80mm Power Series Exhaust

Mazdaspeed Protege
C
O
R
K
S
P
O
R
T

3:  CorkSport Exhaust Installation (Continued)     

B) (Continued) Install the two remaining M10 x 1.25 
nuts onto the bolts and using two 17mm wrenches, 
lock the nuts.  See Figure 3b for fastener stackup.

C)  Apply anti-seize to O2 sensor and install into 
bung on side of forward pipe.  Tighten to ~10 ft lb of 
torque.  Make sure the cable is not bound or 
touching the exhaust or CV Shafts.

D)  Install Tailpipe section onto hangers and allow to hang 
in place as shown in Figure 3d.

E)  Install middle section of exhaust system into vehicle 
along with supplied 80mm gaskets and hardaware.  Hardware 
should be installed as follows:  M10x1.25 Bolt, Flat 
Washer, Flange, Gasket, Flange, Lock Nut, M10x1.25 Nut.  
Depending on alignment of forward pipe hangers, you may 
need to pull down on one hanger in order to align the 
flange connecting the front pipe to the middle pipe. 

    WARNING: Depending on your alignment of flanges and 
installation, the tailpipe may be 
closer than preferrable to the rear 
bumper valence.  It should be at 

Minimum 1/2” from the bumper to prevent damage to the 
paint.  The two rear hangers may need to be adjusted to 
get height alignment correct.  Video tips on adjusting 
exhaust hangers here:  http://bit.ly/7Qvf1z

F) Finally, to keep the side to side adjustment just right, 
you can use a cable tie (zip tie) or two on the hanger 
rods to keep the bushings from moving side to side relative to the hanger rod.

4:  Button-up and leak check

Ensure that all of the gaskets are installed, flanges are aligned correctly (not 
offset or clocked improperly to the adjacent flange) and that all of the nuts 
are tightened (20-30 Ft Lb of Torque except for spring loaded fasteners, which 
should have a 1mm gap between coils of the spring).

Additionally, check for gaps between the car and the exhaust and adjust 
hangers as necessary.  This is a very large exhaust for a car that was intended 
originally to have a much smaller system on board.  You may need to use motor 
mount inserts and urethane exhaust hangers in order to keep it from hitting 
under hard cornering or rapid changes between acceleration and deceleration.  

Safely remove the car from the jackstands and start it up.  Listen for exhaust 
leaks.  If leaks are present, put the car back onto the jackstands per the 
manufacturers recommendations and look for soot marks to see where the leaks 
are present.  Adjust gaskets and flange torque as necessary - generally 
overtightening the flanges is only going to warp the flange, not fix the leak.  
And remember, if you do run into an issue which you can’t resolve, give us a ring 
at the number below and we’ll help you out.  

 !

Figure 3d

Tailpipe Spacing 

Figure 3b

 ?

 !

CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT

CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT

CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT

CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT

CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT

CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT

CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT

CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT

CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT

CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT

CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT

CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT

CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT

CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT

CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT

CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT

CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT

CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT

CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT

CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT

CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT

CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT CORKSPO
RT CORKSPO

RT


	99p-6-100 80mm MSP Exh, Sht 1.pdf
	Blank.pdf
	99p-6-100 80mm MSP Exh, Checklist.pdf
	Blank.pdf
	99p-6-100 80mm MSP Exh, Sht 2.pdf
	99p-6-100 80mm MSP Exh, Sht 3.pdf

